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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-“A’

Question numbers 1 to 10 carry 1 mark each.

The value of 216 — 125 is :
A) 1 B) 0 < 2

Which of the following is irrational number ?
(A) 0.15 (B) 0.1516
(©) 01516 (D) 0.501500150001---

+ % =—1,(x, y # 0), the value of x*—1?is :

1
2

B) -1 ©

(1+3x)3 is a example of :
(A) Monomial (B) Binomial (C) Trinomial None of these

The number of dimension (s), a surface has :
(A) 1 B) 2 © 0

The angles of a triangle are in the ratio 5 : 3 : 7, the triangle is :
(A) An acute angled triangle (B) An obtuse angled triangle
(C) A right triangle (D) An isosceles triangle

D is a point on the side BC of a A ABC such that AD bisects /BAC then :
(A) BD=CD (B) BA>BD (C) BD>BA (D) CD>CA

In AABC, BC=AB and £ZB=80°, then ZA is equal to :
(A) 80° (B) 40° (C) 50° (D) 100°

In the given figure - 1, PQ || RS and EF || QS. If ZPQS=60°, then the measure of ZRFE is :

P R
F

Q
Fig. 1

(B) 120°
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If one angle of a triangle is equal to the sum of the other two angles, then the tringle is :
(A) an isosceles triangle (B) an obtuse angled triangle
(C) an equilateral triangle (D) a right triangle

SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each.

Express 5.2 in the form of %, where p and q are integers and q= 0.

Prove that every line segment has one and only one mid point.
Represent /5 on the number line.

In figure - 2, ZPOR and ZQOR form a linear pair. If b—a=60° find the value of a and b.
R
a\b

P O Q
Fig. 2

&
<

15. Find the value of a if (x—1) is a factor of 2x2+ax+ /2.

16. In figure - 3, find the value of x and y and then show that AB || CD.

t
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A (60
X

y

Q)& D
120°

Fig. 3
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In figure - 4, AB > AC, BO and CO are the bisectors of ZB and ZC respectively. Show that
OB > OC.

A

Fig. 4

OR
In the given figure - 5, ZABD=130° and ZEAC=120°. Prove that AB > AC.

E

A
B
Fig. 5

Plot the points P (1, 0), Q (4, 0) and S (1, 3). Find the coordinate of the point R such that
PORS is a square.

SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.
Simplify the following by rationalising the denominators :

33 -2y5 V12
33 +25 5 -3

OR

V2 +3
32 — 243

a — b/6, find the value of a and b.

Factorise : x3+ 6x2+11x +6.
OR
If a+b=10 and a2+b%=58, find the value of a3+ b°>.
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3 3

(25)2 x (343)>

Simplify: =5 2 3
164 X 83 X7

3
5

What are the possible expressions for the dimensions of the cuboids whose volume are given
below ?

Volume = 12ky?+ 8ky — 20k.

4 4
If 3_ /5" Find the value of a 1

Plot the points O (0, 0), B (16, 0), C (16, 12) on the graph paper. Join points O, B and C.
Name the figure.

I, m and n are parallel lines intersected by transversal ‘" at A, B and C respectively. Find the
measure of Z1, Z2 and Z3. Give reasons.

t

40

- B
CJQ/

Fig. 6

In figure - 7, show that AB || EF.

Jal

<
<€

940112 - C1




In figure - 8, ABC is an isosceles triangle in which Z/B= ZC and LM || BC. If ZA=50°,
find ZLMC.

C
Fig. 8

In the given figure - 9, ZQPR= ZPQR and M and N are points respectively on sides QR and

PR of APQR such that QM =PN. Prove that OP=0Q, where O is the point of intersection
of PM and QN.

@)

Q
Fig. 9

The base of an isosceles triangle measures 24 cm and its area is 60 cm2. Find its perimeter.

SECTION - ‘D’

Question numbers 29 to 34 carry 4 marks each.

Show that (x—1) is a factor of P (x)=3x3—x2—3x+1 and hence factorise P (x).
OR

The polynomials x3+2x2—5ax —8 and x3+ax?—12x—6 when divided by (x—2) and (x—3)
leave remainder p and q respectively. If q—p=10, find the value of a.

Prove that (x +vy)3— (x —y)> — 6y (x2—y?)=8y°.

Factorize : a®—b3+1 + 3ab.
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32. In figure - 10, AP and DP are bisectors of two adjacent angles A and D of a quadrilateral
ABCD. Prove that 2ZAPD=/ZB+ £ZC.

A

C
Fig. 10

OR
In figure - 11, AB=BC, AD=EC. Prove that AABE = ACBD.

A
D
E

C
Fig. 11

33. In the given figure - 12. Prove that x=a+b+c.

34. In AABC, AB=AC, ZA=36° If the internal bisector of ZC meet AB at D, prove that
AD=BC.
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YT T 19 10 96 Teh W97 1 37 T &

3216 — 3125 M HAA® -
A) 1 B 0

=1 | % eaftg 9@ © 2
(A) 0.15 (B) 0.1516

(©) 01516 (D) 0.501500150001---

+%=— L diseioy 20 @B PHAAT:

(1+3x)3 F1=1 1 SR ©
(A) THE-THE (B)

T 7d (Y3) o fameti =1 dem % -
(A) 1 (B) 2

T E F AR FO5:3:7F AT H S| T8 P |
(A) =3 o s (B) 31fes wiv s
(C) T HHSH ot (D) T gufgarg =

st ABC ®t o1 BC R D fag 39 ¥&R € f AD o1 £ BAC ! gafgunfsa wdt 8, aa 2t :
(A) BD=CD (B) BA >BD (C) BD >BA (D) CD > CA

s ABCH, BC=AB 3R /B=80°, T LA R AR T :
(A) 80° (B) 40° (C) 50°
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Hfd - 18, PQ || RS 3R EF || QS ®1 af L PQS=60°, T £ RFE %1 919 § :

P R
g F
60°
Q S
SATRTA-1

(A) 115° (B) 120° (C) 60° (D) 180°

Ifg fordt T 1 T 10T 77 < KU & I % SRR ¢ q 98 A ¢
(A) wHfgarg Iy (B) 3Tfyes wiv s
(©) T Bt (D) TF T A4

Qusg -a
U9 WEAT 11 § 18 dF Uk U9 2 3Tkl T T

& 52 %%mﬁaﬁﬁa@aﬁpamqpﬁ?(qu%l

fag =i for To® @1 G &1 TF iR %o TH & 99 fog 2a1 2|
& (/5 & G& W@ W Ed S|

3MMfd - 2 H, ZPOR @M £ QOR T Y& IH o & | Af b—a=60° 9 a 9 b 1 TH A HIfT |

A (x—1) FGIT 2x2 +ax + 2 H OHES T A a HT TH F1d HITST |
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16. 3T - 3 H, x ATy 1 W J@ HISC 7201 IR 6 AB || CD T

t

Thfd-3

17. 3T&fd -4 H, AB> AC § T91 BO A1 CO FHI: /B M £ C % Fufgyeia &1 <ET fF OB > OC
gl

C

STThfd-4

3teran
3MFfd - 5°, LABD=130° a1 LEAC=120°%| g #IfS T f& AB > AC ®I

E

A2
B

T fd-5

18. fagal P (1, 0), Q (4, 0) @S (1, 3) =l aAIfEd &I forg R o T Tz I *ifsig aife
0PQRS T& &1 &1 ST |
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33 + 245 5 -3

AT

V2 + V3 —a— b6 T a T b HT HH A HITIT |
32 — 23

B +6x2+11x+6 o OGS HIST |
AT
Ifc a+b=10 9 a2+ b2=58 9 a3+ b3 & AF Jd HIfeT |

(25)7 x 4(343)?3 - T |

5 4 3
164 X 83 X 75
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3R T8 YR T AThfd &1 9 e |

1, m A FHMIAR Xl &1 U fodfe @ ‘¢ sAen: fagsli A, BAC R ®RAl 81 L1, L2770 £3
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26. SH -7 H TEC fF AB || EF |

A

<«
<

]')’

SATRId-7
gar

AHfq - 8 H A ABC Tk FHfgarg e &, fed £/ B= £ C 3R LM || BC®1 afe ZA=50°2 aa
ZLMC &1 5H T4 SIS |

C

TR fd-8

27. 3$fd-9H, LQPR=ZPQRINMM a N APQR &I HHI: ssii QR qM PR R fog 30 YR &
fF QM=PN &1 fag FIfST OP=0Q W&l fag O, QN & PM Y=t =1 Hfaesfed fag ®1

STHfd-9

28. U HAGAG FAYS T MR 24 cm § T SHHT &AFB 60 cm2 T 1 TR TRATT T T |
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©usg - §
U9 HE&AT 29 W 34 9k Ucdch W9 4 Ak T T

TR & (x—1) TgUR P (v) =3x3 —x2—3x+1 1 OGS § a1 R P (x) & PHES ST

HAYAT

TgIGI 13 +2x2 —5ax — 8 3R 13 +ax?2—12x—6 I HAW: (x—2) AT (x—3) | faaiea &0 W
ITHA AN p AU q IC B & | IS q—p=107 79 a F AF I AT

fag HIT fF (x+y)°— (x—y)>— 6y (2 —y?) =8>

a®—b3+1+3ab % TUHES FA HIT |

apfa - 10 §, AP A1 DP =qysl ABCD & < 3T%% &0 A g D & 315 §1 fag wifvu
2/APD=/B+ ZC %I

SATHRIA-10
3teran
A - 11 H, AB=BC a1 AD=EC ¢! &5 HI¥T AABE = ACBD %I

940112 - C1




33. oTfd - 12°H fag wife fFx=a+b+c 21

A

G/

C

Tpfa-12

34. IS ABC H, AB=AC 791 LA=36°7| 4l IH HI0T C F TGk o1 AB &l fag D W
fgeran ® 7@ fag Fifsw fF AD=BC ®1

940112 - C1




